LZRE

BRARA & g B (SoME | EEHE| &R & =
MM TX)
Cg?bl”;% ABST ik &# @ 100(V) Gl 1 XABSTI %
AHRE(V) ¢ 100(V) & 1 ¥ABSI %
BEKEMEZETL HPPE(EFZ Ot R ZE%E) L=5.00m ¢ 100 X 37 185m#fi £% (5%0m)
$100(P) HPPE(E®&) L=5.00m ¢ 100 VN 5 24mA (7% 1m)
EFmZBE(RUR) ¢ 100 X 45° & 1
EFfZ2F—X ® 100X ¢ 50 & 1
AHEHE (P) ¢ 100 X 45° & 6
PVIIqf Uk @ 100(P) x ¢ 100(V)| & 1
BEKEMBZRTL HPPE(E®&) L=5.00m ¢ 50 X 1 3m# EX (5% 2m)
(3Z#%) HiVP(E®) L=4.00m ¢ 50 X 1 4m# 5% (5%0m)
¢ 50(P)— ¢ 30(V) [HIVP (&) L=4.00m ¢ 30 X 2 8m7#f 5% (5%0m)
EFEZBIE(RUR) ¢ 50 x 45° & 1
AHEEE (V) ¢ 50 x 45° & 2
Hiva vk (BEF) ¢ 50x ¢ 30 & 1
HiZ)LAR ¢ 30 & 2
Hiv 4 ybk ¢ 30 & 2
BR—k BRY—h W=150S m 224.0 209+3+4+8
BEKEMBZETL HPPE(EFZ Ot R ZE%E) L=5.00m ¢75 X 12 60m 7 5% (5%0m)
®75(P) HPPE(E®) L=5.00m ¢75 X 3 14m#EZ (B 1m)
HIVP(E%E) L=4.00m ¢75 VN 1 2m# Ex(5%2m)
EFfZ2F—X d75x% 50 & 1
AHEEE (P)x (V)ZEH#: ¢ 75x 45° & 1
AHEHE (V) ¢ 75 % 45° & 1
VEPEESIS d75(V) & 1
BR—k BRY—h W=150S m 76.0
BEKEMEZETL HPPE(E®&) L=5.00m ¢ 50 X 1 5m#f 5% (5%0m)
¢ 50(P)— ¢ 30(V) [HIVP (&) L=4.00m ¢ 50 X 1 4m# 5% (5%0m)
HiVP(E®) L=4.00m ¢ 30 X 32 126.5m#AE%(5%1.5m)
EFV4 vk ¢ 50 & 1
Hiva vk (BEF) ¢ 50x ¢ 30 & 1
HiV 4k 30 & 30
HIRUR ¢ 30 x 45° & 2
Hid vy ¢ 30 & 1
BR—k BRY—h W=150S m 1355




LZRE

BRiRA A FR Bk By | SUBE|ZERE| BH 5 &

HUIFHET RURA—AEYIR — LY F ¢ 100 = 1
¢ 100(P) o= H=800 #A 1
HUIFHET RURA—AEYIR — LY F o715 = 1
¢ 75(P) 5= H=800 #8 1
HUIFHET FHRALUF @50 H 2
¢ 50(P)— ¢ 50(V) [HH LAV ryk(P) ¢ 50 & 2
Bl iryk(v) @50 & 2
5= H=1000 #H 1
5= H=800 #H 1

WAKEIBL |YRLAERKEERUAER) $100% ¢ 20 {& 3 a7 —KE
AAHF ¢ 20 & 3

BRI KR HiVP  L=4.00m @20 x 1 1.0m x 34
¢ 100x ¢ 20 HITJLAR $20 1 6
HiVA7 vk ¢ 20 {& 3

YRIILFESKEGRYRER) ®100% ¢25 & 1 a7 —KE
. AHMTF $25 & 1

ZT&'{ :i’\ék;? HiVP  L=4.00m 25 X 1 1.0mx 14
HiTJLAR b 25 & 2
HiV47 vk 25 {& 1
TSF¥F—X $30% ¢20 & 2

TSF—X HiVP  L=4.00m @20 x 1 1.0m x 24
$30x ¢20 HITJLAR $20 1 4
HiV47 vk ¢ 20 {& 2

AR —k BRY—h W=150S m 6.0 1.0m X 64




FHE

BRIRA 2% & Hir| 29%=E | £EHE i w =
A X (1K)
ABSTI % ABSTik(H#B#E) = 1
VP ¢ 100 AN=HILHBFT $ 100 | 1 HISEE
BEKEMBL |RUTFLUOEHRHZL ¢$ 100 m 209.0
$100(P) RUTFLUEYMT ¢$ 100 | 5
RYIFLUEMTFI(MERS) | 0100 1O#F | &FF 37
RYIFLUEMTFI(MERS) | 0100 208F | &rF 2
AN=HILHBFIT(P) 100 m] 14 Ahph-Caq M (P)=8{A
BEKEMBL |RUTFLUOEHHZL $50 m 30
$50(P)— ¢ 30(V)RYIFLUEYIMT $50 A 10
(Z#) RUTFLUERFI (BEES) $50 20#F | &Ar 1
EEIEIEE- L ERET $50 m 40
ANZHILBFI(V) $50 | 4 AN =218
TSH#FET ¢ 50 a 1 BEES=1#
EEIEIEEZ L ERET $30 m 8.0
TS#FET ¢ 30 a 10 EFES=1{EL=2{ES=2{&
EHRHRI—F BRI —bk HPPE ¢ 1008&#8 | m 224.0
BEKEMZRL |[RUTFLUERBRT 75 m 740
»75(P) RUIFLUELMRT 75 A 1
RUIFLUERFI (BEES) ¢75 1O#HF | &ar 12
RUTFLUERFI (BEES) ¢75 20#F | &An 1
AN=AILBFIE) 75 m| 6 AhEh2- P31 MM =3
EEIELEEZLEMSE ¢ 75 m 2.0
EBRHRI—F BRI —bk HPPE® 758&#R | m 76.0
BEKEMBZL |RUTFLUOEHHZL $50 m 50
$50(P)— ¢ 30(V) [FEEIRILE = L EMER 50 m 40
EEIELE-ILEMmE ¢ 30 m 126.5
RUTFLUERFI (BEES) $50 20#F | &Ar 1
TS#FT 50 | 1
TS#FT $30 | 66
EBHRI—F BRI —bk HiVP ¢ 30B&#% | m 1355
BIKEAER BKHERT HKETRE = 0.218 426.5m/2,0008=0.218H
REMBRT RBFES 2A/H B 4 BB (SHESD)




FHE

BRIRA 2% & Hir| 29%=E | £EHE i w =
HNFHXG0 TX)
TUHFFRET TUFFRET ¢ 100 = 1
¢ 100 ANZHILBFT $ 100 | 2
HERET H=800 #8 1
BEHE 58 1
HYAHRET |[HUHFRET 75 = 1
@ 75(P) AN=hILHFT 75 a 2
HERET H=800 #8 1
BERE L3¢ 1
HYABRET |[HUHFRET $50 = 2
®50(P)—(V) |HENORERCAAES ®50 | 4
RUIFLUEMFT ¢ 50 m] 4
HERET H=800 #8 1
HERET H=1000 #8 1
BERE 58 2
teKkgIBT YRILHDKEFRETL RUER ® 100 x ¢ 20 & 3 34
YRV K fHERLAAT 20 a 3
$ 100 % ¢ 20 E-—ILEMmHT $20 m 30
TS#FT 20 | 18
feKkgIBT YRILHDKEFRETL RIUER $100% 25 & 1 14
HRILSKEE HERCAAHT ¢ 25 | 1
$100% 25 E-—ILEMmZT 25 m 10
TS#FT 25 | 6
feKkgIBT TS#FT ¢ 30 | 4 24
TSF¥F—X TS#FT ®20 | 14
$30% 20 E-—ILEMET $20 m 20
FHHRI— W=150S m 6.0




T I H = X

£ fa g | 4B o = BEtHE
AP X (1 TX)
BLKEMBT H=800 | MFE(D 060 m X 0985 m X 2040 m = 12056 m3
H=800 | HFTE(® 060 m X 0945 m X 100 m = 5.67
H=600 | HFE® 060 m X 0760 m X 160 m = 730 m3
PR YE T H=600 | MTE® 060 m x 0738 m X 1345 m = 59.56 m3
H=800 | MFE® 060 m X 0950 m X 760 m = 4332 m3
ABS 100 m X 1000 m X 20 m = 200 m3
ast = 23841 m3 240
H=800 |MFEI(D®D 060 m x 0325 m X 2140 m = 4173 m3
H=600 | HFE® 060 m X 0260 m X 160 m = 250 m3
HmBERELT H=600 | BFE@® 060 m X 0238 m X 1345 m = 1921 m3
EREFY) H=800 | MFE® 060 m X 0290 m x 760 m = 1322 m3|.
ABS 100 m X 0325 m X 20 m = 065 m3
At = 7731 m3 80
H=800 | HFE®D 060 m x 0490 m X 2040 m = 59.98 m3
H=800 | HFEQ 060 m X 0380 m X 100 m = 228 m3
_ H=600 | HFE® 060 m X 0290 m X 160 m = 278 m3
HHERLT H=600 | HFE@ 060 m X 0290 m X 1345 m = 2340 m3
(BEL)
H=800 | HFE® 060 m x 0490 m X 760 m = 2234 m3
ABS 200 m X 0675 m X 20 m = 270 m3
&% = 11349 m3 110
HIAMET = 11231 m3 110
TRERET t=10cm | RC-30 060 m X 4325 m = 25950 m2 260
TERET t=8cm M-30 060 m x 4325 m = 259.50 m2 260
TRERET t=12cm | RC-40 060 m X 100 m = 6.00 m2 6
EERET t=17cm | M-40 060 m X 100 m = 6.00 m2 6
RAsEZET t=3cm FEAI 060 m X 4425 m = 26550 m?2 265
AiEIBAsEHRET t=4cm R 080 m x 4425 m = 354.00 m2 354
AEIBAsTHET (EE)| t=4cm FEAI 080 m X 100 m = 8.00 m2 8
AsEHERRYIMT T t=4cm 3425% 4 = 13300 m 1330
AsEHEREERE T t=4cm 080 m X 3425 m = 27400 m2 274
CoffiEhR Il T t=10cm 100 X 4 = 40000 m 400
CofisE BT t=10cm 080 m x 1000 m = 80.00 m2 80
Coffi B - LT 80 0.1 = 8.00 m3 8
{RAsTHEE B T t=3cm 060 m X 4425 m = 26550 m?2 265
AsSHIERER- LS T 270 X 0.04+262 X 0.03 = 1893 m3 18
HWAKEMRT |[HEKREL H=800 | As&hi 060 m X 0985 m X 60 m = 355 m3 4
N=614 BWHERLT FEFYT 060 m X 0290 m X 60 m = 1.04 m3 1
WHIERLT H=800 060 m X 0490 m X 60 m = 176 m3 2
BIAMET 3.55-1.76 = 198 m3 2
TRERET t=10cm | RC-30 060 m X 60 m = 360 m2 4
LERET t=8cm M-30 060 m 60 m = 360 m2 4
AREIHAsEHZET t=4cm R 080 m 60 m = 480 m2 5
AsEHERRUIMT T t=4cm 6x4 = 240 m 24
AsSHIERREERE T t=4cm 080 m X 60 m = 480 m2 5
IRASERE R BT t=3cm 060 m X 60 m = 360 m2 4
AsSHIERER- LS T 4.8%0.04+3.6 X 0.03 = 030 m3 0.3




¢ 100 HPPE fid K & b & £
UEE (m) DHENS
BB B & |0 ERE S | I i
5
z.-1 Z.-2 Z.-3 Z.—4 -5 (O =O) (A)
HPPE 100 5.000 | 4000 1.000 5.000 1| PR 100%HR 1
HPPE ¢ 1001 4

HPPE 100 5. 000 5. 000 5. 000 (FL—1) HPPE
HPPE 100 5. 000 5. 000 5. 000 n
HPPE 100 5. 000 4. 000 1. 000 5. 000 1 " = 100
HPPE 100 5. 000 4. 000 1.000 5. 000 1 ”
HPPE 100 5. 000 3.000 1. 000 4. 000 1. 000 2 I HihE| 5.000

i 30. 000 25. 000 4. 000 29. 000 1. 000 5

30. 000 25. 000 4. 000 29. 000 1. 000 5. 000




075 HPPE fid K & b & &
UEE (m) DIH*NT]
BB B & |0 ERE S | AR I i
5
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
HPPE 75 5. 000 5. 000 5. 000 HPPE ¢ 755 1
(=g
HPPE 75 5. 000 5. 000 5. 000 " HPPE
HPPE 75 5. 000 4. 000 4. 000 1. 000 1 "
B = 75
HahE| 5.000
3 15. 000 14. 000 14. 000 1. 000 1
15. 000 14. 000 14. 000 1. 000 1. 000




¢50 HPPE fid K & 4] & &
UEE (m) DIH*NT]
%4 (m) Y 1T
=] forcs Vo P
7B R B0 ERE o g . i &
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HPPE 50 5. 000 5. 000 5. 000 HiVP ¢ 303%#%5 1
(=g
2 HPPE 50 5. 000 3. 000 3. 000 2. 000 1 |HPPE ¢ 1003 HPPE
T = 50
HahE| 5.000
i 10. 000 8. 000 8. 000 2. 000 1
10. 000 8. 000 8. 000 2. 000 1. 000




¢50 HiVP fid K & b & &
UEE (m) DIH*NT]
%4 (m) Y 1T
=] forcs Vo P
7B R B0 ERE o g . i &
5]
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 HiVP 50 4. 000 4. 000 4. 000 HiVP ¢ 303%#%5 1
(=g
2 HiVP 50 4. 000 1. 000 2. 000 1. 000 4. 000 HPPE ¢ 10043 HiVP
T = 50
BHahE| 4.000
i 8. 000 5. 000 2. 000 1. 000 8. 000
8. 000 5. 000 2. 000 1. 000 8. 000




$30 HiVP Jd K & Y] & K

PEE (m) DIH*NT]
BB B & |0 ERE S | I i
5
z.-1 Z.-2 Z.-3 Z.—4 -5 D—@ (A)
HiVP 30 4. 000 2. 000 0. 300 0. 300 0. 300 0. 300 3. 200 0. 800 HPPE ¢ 10054 #3 1
[t
Ego
HiVP 30 4. 000 3. 000 3. 000 1. 000 n HiVP
HiVP 30 4. 000 2. 000 2. 000 4. 000 HiVP ¢ 30845
HiVP 30 4. 000 3. 000 1. 000 4. 000 " R = 30
HiVP 30 4. 000 2. 000 2. 000 4. 000 ”
HiVP 30 4. 000 2. 500 2. 500 1. 500 I HahE|  4.000
i 24. 000 14. 500 5. 300 0. 300 0. 300 0. 300 20. 700 3. 300

24.000 14.500 5. 300 0. 300 0. 300 0. 300 20. 700 3.300



LZEEE S

BRAR B 2 g B |Zv#E|EEHE| #BRE im &
hffih X
BlKEMERT HPPE (EFZ Ot FZEE) L=5.00m ¢ 100 V.S 13 65.0m#f 5% (5%0m)
$100(P) HPPE(E%) L=5.00m ¢$ 100 x 1 4.6m7 5%(5%0.4m)
HIVP(E®&) L=4.00m ¢$ 100 x 2 5.1m#E%(5%2.9m)
BEEERANTHE (PXV) ¢ 100 x 45° 1@ 2
AHBMEGEEER) @ 100 x 45° 1& 2
VEPEEMLS ¢ 100 & 2
BRI —b BRI —bk W=150S m 74.7 65.0+4.6+5.1
TUHFET THKEUIF GREEA) ¢ 100 £ 1
100 TUH=E H=1000 #A 1
ERAFET INIZERF (V1) ¢ 25 1@ 1
EIFRYIR ©$350 H=800 | {& 1
YRG5 K ERUER) ®100x @25 & 1
GPFvbk ¢ 25 1@ 1
GPY4 vk ¢ 25 1@ 1
fasviryk ®30% 25 1& 1




FHEE

BRAR B 2 g Hfg| Z9%E | £EH#HE 1K iH &
i ih X
BLKEMET RUIFLUERMRT @100 m 69.6
$100(P) BEEEIEE-LERHRT ¢ 100 m 5.1
RUIFLUEYMT ¢ 100 | 1
RUTFLUERFT (REES) $100 1OH#F | &FT 13
AN=HIBFT(P) ¢ 100 m| 2
AAZHIVHBFTI(V) ¢ 100 m| 10
EHRI—k BRI —bk m 74.7
BIKEER BKEERT HKEE H 0.037 74.7m/2,0008=0.037H
TUHFET KLU F GBEER) (77%) ¢ 100 £ 1
¢ 100 RERET H=1000 #8 1
HEHRE " 1
ERARET EIFHRET ¢ 25 H 1
YR KERFREIGRUER) $100% 25 & 1
MERLCAAT ®30 A 1
" ¢ 25 A 2
RERET H=800 #A 1
HEHRE & 1




T I # & *

£ L & | @ B # = ETHME
rh#A #h X
BEKEMEL R YE T H=800 | BERED 060 m X 0975 m 75.7 m 4428 m3 40
WHIER TGRRFYY) H=800 | BFED 060 m X 0.325 m 757 m = 1476 m3 10
MEMERT(RETLT) H=800 | HFED 060 m X 0200 m 757 m = 9.08 m3 9
FLET = 3419 m3 30
TRERET t=15cm |HEFvS 060 m X 757 m = 4542 m?2 45
TERET t=15cm | RC-40 060 m X 75.7 m = 4542 m2 45
LERET t=17cm M-40 060 m X 757 m = 4542 m2 45
RAsEHZE T t=3cm AL 060 m X 757 m = 4542 m?2 45
A{EIBAsEHET t=5cm ZHI 150 m X 757 m = 11355 m2 114
AsEli =R U1 T t=5cm 75.7 % 4 = 3028 m 303
AsEHZEhRBER T t=5¢cm 150 m X 757 m = 11355 m2 114
R AsE 2% iR B 1 T t=3cm 060 m X 757 m = 4542 m?2 45
AsEHEFR B - T 113.55 % 0.05+45.42 X 0.03 = 7.04 m3 7




$100 HPPE fid K & 41 & %
UEE (m) DIH*NT]
: Ik
5 OEM R |0 ERE S | L i
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
HPPE 100 5. 000 4. 600 4. 600 0. 400 1 FHEL i X 1
(=g
HPPE
T = 100
HahE| 5.000
3 5. 000 4. 600 4. 600 0. 400 1
4. 600 0. 400 1. 000

5. 000 4. 600



$100 HiVP fid K & B & %
UEE (m) DIH*NT]
= Par Pirs A o \M t * I
&8 BE BR|OERE " BE (m) S W
Z o -
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 D—@ (A)
1 Hivp 100 4.000 0. 500 1. 400 0. 500 2. 400 1. 600 Hh L i X 1
(=g
2 Hivp 100 4,000 2. 700 2. 700 1. 300 o X Hivp
T = 100
BHahE| 4.000
5 8. 000 3. 200 1. 400 0. 500 5.100 2.900
8. 000 3. 200 1. 400 0. 500 5.100 2.900




